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BACHELOR'S DEGREE PROGRAMME 

Lc) 	 Term-End Examination 

June, 2016 

ELECTIVE COURSE : COMMERCE 

ECO-5 : MERCANTILE LAW 

Time : 2 hours 	 Maximum Marks : 50 

Weightage : 70% 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. Define a contract. Explain the essentials of a valid 2+8 
contract. 

2. (a) Explain the meaning of 'Consent' with an 3+3 
example. When consent is said to be free ? 

(b) Naresh offers to sell his car to Mukesh for 
	4 

1,50,000. Mukesh replies "I will pay 
1,20,000 for it." Naresh refuses to sell at 

this price. Mukesh then offers to pay 
1,50,000 to Naresh. But Naresh refuses to 

sell his car. Can Mukesh sue ? Give reasons. 

3. "A stranger to contract cannot sue". Explain. 2+8 
Discuss the exceptions to this rule. 

4. Explain the remedies available to an aggrieved 10 
party on the breach of a contract. 
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5. 	(a) Define a contract of guarantee. What are 2+4 
the essential features of a valid guarantee ? 

(b) Explain any two circumstances in which an 
	

4 
agent incurs personal liability. 

6. What are the differences between a contract of 10 
sale and an agreement to sell ? 

7. Comment on the following statements : 	5+5 
(a) The relationship of partnership arises from 

agreement but not from status. 

(b) The Indian Partnership Act has effectively 
ensured the registration of firms without 
making it compulsory. 

8. Define 'Condition and 'Warranty' in a contract 5+5 
of sale. When can a breach of condition be treated 
as a breach of warranty ? 

9. Who is finder of goods ? Explain the rights and 10 
duties of a finder of goods. 
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